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Title: What do you want to write about?

An owner of the problem: | Date:

1.Problem description
Why do you want to write about this problem?

2. Current situation

What is a current situation?

Use visual tools to present the current situation
(schemes, flowcharts, pictures, diagrams, VSM,
spaghetti diagram etc.)

5. Proposed countermeasures

What do you propose to implement to achieve the
goal(s)?

How the proposed solutions can influence the source
causes of the problem and change the current situation
to achieve the future state?

3. Goal(s), indicators

The goal(s) should be SMART (Specific,
Measurable, Achievable, Realistic, Time-bound)
Indicators should give the possibility to assess
Improvements in the future

6. Plan

What do we have to do?

What is a deadline?

Who will be responsible for the activities?

How much will it cost?

You can use Gant chart, table or other visual tool.

4. Analysis

What are the source causes of the problems?

Use a tool which will help you to find the causes of
the problem (5xWhy?, Ishikawa diagram,
interrelationship diagram, brainstorming, etc..)

7. Further improvement

What kind of problems can appear (risk analysis)?
Use PDCA to plan further improvement.

Assess what was achieved.
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1.Problem description

Why do you want to write about this problem?
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2. Current situation
What is a current situation?
Use visual tools to present the current situation

(schemes, flowcharts, pictures, diagrams, VSM,
spaghetti diagram etc.)

GO TO CHAPTER 3.1
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3. Goal(s), indicators

The goal(s) should be SMART (Specific,
Measurable, Achievable, Realistic, Time-bound)
Indicators should give the possibility to assess

Improvements in the future
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4. Analysis

What are the source causes of the problems?

Use a tool which will help you to find the causes of
the problem (5xWhy?, Ishikawa diagram,
interrelationship diagram, brainstorming, etc..)

GO TO CHAPTER 3.1
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5. Proposed countermeasures

What do you propose to implement to achieve the
goal(s)?

How the proposed solutions can influence on the source
causes of the problem and can change the current
situation to achieve the future state?

L))

Erasmus+




A3 Report

6. Plan

What we have to do?

What is a deadline?

Who will be responsible for the activities?

How much will it cost?

You can use Gant chart, table or other visual tool.
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Foreword by Jim Womeck Y

Managing to Learn

Using the A3 management process to solve
problems, gain agreement, mentor, and lead

John Shook: Managing to
Learn: Using the A3
Management Process
Pap/Chrt Edition. Lean
Enterprise Institute, Inc.,

2008
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7. Further improvement

What kind of problems can appear (risk analysis)?
Use PDCA to plan further improvement.

Assess what was achieved.
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Visualization of the products

% ILALEAN %

Planning
process
problems

different profiles types
different colors of
KITCHEN FRONTS
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Unsatisfied
customers may stop
collaborating with
the company

Delays in
deliveries to
customers

High costs of Low profit
materials

TEAM FOR A PROBLEM ANALYSIS:
Knowledge workers from each department of the company
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Organizational structure
of the company

L))

Erasmus+

I |
Sales Planning Cost Accounting
Department Department Department
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The information flow

Production Treatment
order order
Planning
Department

Sales

Department Cost Accounting

Department

Costs report of

order realization . .
Confirmation

of order
realization
Control
report

Shipping
Department

Production
Department

Confirmation
of order
realization
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Milling Process Optimization

Milling machine 1 Milling machine 2 Milling machine 3

CONSTRAINS

Ava|Ia|b.Ie working i) o el Number of set-
time ups
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Laminating Process Optimization
PP....cou.. .JCC........ [ — [K......
Different
colour of
laminates
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Title: A wrong planning process which influences the
punctuality of clients’” order realization and high material

costs.
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An owner of the problem:

Manager of the Planning
Department

Date:

16.12.2016
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1. Problem description

Y,
’A RZESZOW UNIVERSITY

A of TecNoLoGY A wrong planning process causes delays in product deliveries to
7 customers as well as wastes of material. It is because the
(restael ) employees responsible for the planning optimization have not
N enough time to find an optimal solution and the planning process

takes much time. Additionally, each employee has his/her own
goals and doesn’t take into account the goals of employees
responsible for other processes planning. Planners have to take
under consideration many constrains in the planning process .
The optimization made in the process is made only with the use of
human intelligence based on experience. There are three people
23 responsible for the planning process.
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2. Current situation

process.

3 employees assigned to plan the
process. Low capacity of the planning

High costs of
employment

»

. 2

optimization

needs 2.1 m?2 of laminate

Non effective » Material wastes: 1 m? of ready product

Capacity of the
laminating process: 91
sheets of laminates in

the process per shift

. 2

3%

\

m other costs of a product
m cost of employement

47,62%

Low productivity of the
laminating process: 750

"

fronts per shift made with

Low
profit

the use of 91 sheets

10 ; -
Delays in p m= Delayed
. . deliveries [%]
deliveries | , .

® material waste

52,38% l|

®m material used for products
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3. Goal(s), indicators

Increasing the productivity of the laminating process:
900 fronts per shift made with the use of 91 sheets, i.e. productivity
should be on the level 9.89

Decreasing the number of delayed deliveries to max 4%
: ... Number of products
Indicator 1 Productivity = Number of sheets

- - - o I I
Indicator 2 Delayed deliveries = e delg e.d Sl X 100%
Number of deliveries

25
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4. Analysis

Why is there low capacity of planning Because the planning process takes
process employees? much time.

Why does the process take much time? Because the process is very complex.

Why is the planning process very

complex? Because it has many constrains.

Why does taking into consideration all Because the optimization process is
constrains take so much time? realized manually.

Conclusion:
The planning process has low capacity because it is realized manually.

26




A3 Report Bl Frasmus+

ILA-LEAN

4. AnaIySIS Because the products are not manufactured in a
certain manufacturing process in one day.

Why are there delays in deliveries? An employee of Sales Department promised a
client to meet a deadline which was impossible

Why aren’t the products manufactured to meet

in a certain manufacturing process in Because an employee who optimizes the
one day? process tries to save material and waits with the

order till the next day.

Why does this cause delays? _
Because the next manufacturing processes can

. have not enough capability in the next days.
Why can the next manufacturing gh cap y y

processes have not enough capability = _
in the next days? Because of existing constrains.

Conclusion:
There are delays in deliveries because of constrains existing in the next processes.
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4. Analysis

Why are there delays in deliveries? An employee of Sales Department promised to
client a deadline which was impossible to meet

Why did the employee of the Sales

Department promise a client to meet a Because the company rule is that in four days it
deadline which was impossible to is possible to complete an order.
meet?

Why are there orders impossible to

complete in four davs? Because they can be complex, that means

different profiles and different colours.

Why doesn’t the employee of the Sales
Department know which order is Because he/she doesn’t have any tool to support
impossible to realize in four days? him/her in decision making.

Conclusion:
There are delays in deliveries because an employee of the Sales Department doesn’t
have any tool to support him in decision making
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5. Proposed countermeasures

The planning process has low 1 — Implementation of IT solution to
capacity because it is realized support an employee in the

manually. plann

Ing and optimization process

Annex 1 - Possibilities of planning process improvement by TonCut 7.0 implementation

There are delays in deliveries 2 — Train planning employees on
because of constrains existing in the best practices which can be
the next processes. used in the planning process

Annex 2 - Production planning — Best practices

There are delays in deliveries
because an employee of the

3 — Implementation of a

Sales Department doesn’t have manufacturing process simulation

any tool to support him/her in for different manufacturing plans
decision making

Annex 3 - System Dynamics simulation of the manufacturing process
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6. Plan

Gant chart
Task Duration Start point End point  Responsible  Cost 2017, 1st semester
L | G S5 I LM K M| C|L 5

1. Implementation of 30dn CIW, £ro, PM 1 300,00 zt I PM :

TonCut 7.0 16-12-22 17-02-01 :

2. Implementation of 80 dn pon, pia, PM 500,00 zt s e PM
priority rules for orders 17-02-27 17-06-16 :

and operations

3. Develoment of a 80 dn pon, pig, IT 4 000,00 zi I IT
simulation model 17-02-27 17-06-16 :

30
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/. Further improvement

Freguent changes in customers’ requirements can often force
changes in a simulation model.

Wrong priority rules implemented can make the results of the
planning process worse

Real costs of the solution implementation can be higher than it is

expected.

Primarily implemented solutions may be enough to achieve the

goal.

31
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Date:
16.12.2016

An owner of the problem:

Title: Wastes in planning process
Manager of the Planning Department

1. Problem description
Wrong planning process causes delays in product deliveries to customers as well as wastes of material. It is because the employees
responsible for the planning optimization have not enough time to find an optimal solution and the planning process takes much time.
Additionally each employee has own goals and doesn’t take into account goals of employees responsible for other processes planning. In the
planning process planners have to take under consideration many constrains. The optimization made in the process in making only with the
use of human intelligence based on experience. There are three people
responsible for the planning process.

Because the products are not manufactured in a
certain manufacturing process in one day.

Why there are delays in deliveries?

An employee of Sales Department promised to
client a deadline

4. Analysis

Why the products are not

Why there is low capacity of planning

Because the planning process takes

2. Current situation

3 employees assigned to plan the -
process. Low capacity of the planning High costs of
process. employment

R 2

Non effective
optimization

97%

Material wastes: 1 m? of ready product
needs 2.1 m? of laminate

a2

with the use of 91 sheets ‘

10
52,38%

mm Delayed

Delays in deliveries [%]

deliveries | ,

vil vl IX X Xl

= other cost of product
m cost of employment

m material used for products
= material waste

much time.

cause the process is very complex?

process employees?

Why the process takes much time?

Why the planning process is very
complex?

Because has many constrains.

Because the optimization process is
realized manually.

Why taking into consideration all
constrains takes so much time?

Conclusion:

3. Goal(s), indicators

Increasing the productivity of the laminating process:

900 fronts per a shift made with the use of 91 sheets, ie.
productivity should be on the level 9.89

Goal 1

6. Plan Gant chart Often changes in customer requirements can force often
Goal 2 Decreasing the number of delayed deliveries to max 4% i i i
J Y ° Task Duration_ Start point End point _ Responsible  Cost 2017, 1st semester changes Ina S|mU|aF|0n model.
L)G|s LMk mpc|e s Wrong priority rules implemented can make the results of the
1. Impl. tation of 304d 3 $ro, PM 1300,00 z¢ o PM i
Indicator 1 | Productivity Number of prodiicts . | wnn non ‘ D s colution i i i
N S R 2.implementationof  80dn | pon, pia, o so0.00d e —— Real costs of the solution implementation can be higher than
priority rules for orders 17-02-27  17-06-16 itis expected.
: o and operations Firstly impl ted soluti b ht hi th
— Delayed deliveries = Number ofde.'aeq deliveries ¥ 100% 3. Develoment of 3 sodn  pon, pig, = 2000002 ——1 Irstly implementead solutions may be enough to achieve the
Number of deliveries = simulation model 170227 17:06-16 goal.

Why there are delays in deliveries? An employee of Sales Department promised to

client a deadline which was impossible to meet

Why the employee of Sales Department

promised to client a deadline which was
impossible to meet?

Because the company rule is that in four days it
is possible to complete an order?

Why there are orders impossible to

complete in four days? Because they can be complex, that means

different profiles and different colors.

Why the employee of Sales Department
doesn’t know which order is impossible
to realize in four days?

Because doesn’'t have any tool to support him in
diction making.

Conclusion:
There are delays in deliveries because an employee of Sales Department doesn’t have
any tool to support him in diction making

manufactured in a certain
manufacturing process in one day.

Why this causes delays?

Why the next manufacturing
processes can have not enough
capability in the next days?

There are delays in del

Because an employee who optimizes the

ies because of const

process tries to save material and waits with
order to the next day.

Because the next manufacturing processes can
have not enough capability in the next days.

Because of existing constrains.

Conclusion
n the next processes.

5. Proposed countermeasures

Capacity of the 47.67% - y . -
. f The planning process has low capacity because is realized manually.
laminating process: 91 Low productivity of the Low i . SR y E—— has | 1 — Imol tati P
sheets of aminateain || laminatng process: 750 [ o B - creratin of T soion o
the process per a shift fronts per a shift made | nploye
planning and optimization process

IMELTELA

There are delays in deliveries

because of constrains existing in

the next processes.

There are delays in deliveries
because an employee of Sales
Department doesn’t have any
tool to support him in diction
making

2 — Train planning employees on
the best practices which can be
used in the planning process

3 — Implementation of
manufacturing process simulation
for different manufacturing plans

7. Further improvement
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Report of achievements
Date: 1.02.2017
IT solution allowed to achieve the following results:

Productivity 8.24 9.89 10.99
100% +20% +33%

Number of employees 3 1 1

Delivery delays 9% 4% 6%

The implementation of the first solution allowed to achieve the first goal.

Delivery delays are on the level of 6% - not enough comparing to the planned
level.

Other proposed solutions still have to be implemented.
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Navigation

GO TO THE NEXT CHAPTER

GO TO THE TEST
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